ECON 351 HOMEWORK AND REVIEW QUESTIONS

FOR FINAL

(1) Linda consumes two goods, consumption (C) and leisure (L). His preferences take the form 
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 and he has the choice of working 0-24 hours per day for a pre tax wage W=6$ per hour.

(a) Find the values of C and L that maximize Linda’s utility.

(b) Now the government imposes an income tax t=1/3 on Linda. Calculate the values of C and L that maximize Linda’s utility given she must pay the income tax. Is there a change in Linda’s consumption of leisure compared to no-tax situation? Using a graph clearly illustrate the substitution and income effects on Linda’s leisure consumption (label the horizontal axis as leisure). Then draw ordinary (uncompensated) demand (supply) curve for leisure (labor). Explain carefully.

(c)  Now suppose the government replaces the income tax with a revenue neutral lump sum tax (the lump sum tax is set such that Linda pays the same amount of tax as he did in the income tax case). Compute the values C and L that maximize Linda’s utility. Illustrate graphically the income and substitution effects on Linda’s leisure consumption associated with moving from the case of no taxes to that of the lump sum tax. 

(d) You found (or should have found) that the lump sum tax affects Linda’s labour supply, The income tax did not. Does this imply that lump sum tax imposes a higher excess burden than an income tax? Carefully and precisely justify your answer.

(2) A representative agent lives for two periods, indexed 0 and 1, and receives exogenously determined real wage income $400 in each period (
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). Income that is saved during the first period earns a pre tax real capital gain 100%.  Preferences 
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 are defined over consumption in each period. Assume that the pre tax price of the initial period consumption goods is unity. Assume that given an interest income taxation, interest payments are tax deductible. In parts (a), (b) and (c) below be sure to clearly indicate numerical values for slopes and intercepts.

(a) Draw the representative agent’s budget constraint given that there are no taxes. What are the present value of endowments? Find the utility maximizing level of 
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(b) Draw the representative agent’s budget constraint given that there is an interest income tax t=40%,. What are the present value of endowments? Find the utility maximizing level of 
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. Clearly indicate income and substitution effects associated with the tax.

(c) Draw the representative agent’s budget constraint given that there is a flat consumption tax of 50% of gross expenditures. (Note that this implies that taxes make up 50% of post tax prices and is equivalent to a 100%  markup on pre tax prices).What are the present value of endowments? Find the utility maximizing level of 
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. Clearly indicate income and substitution effects associated with the consumption tax.

(e) In this example which tax imposes a higher excess burden.

(5) True or False explain in detail

(a) If leisure can not be taxed, optimal tax theory prescribes relatively high taxes on goods that are close substitutes for leisure.

(b) The Ramsey Rule for efficient commodity taxation states that taxes should be imposed such that all prices increase in the same proportion.

(c) If the wage is exogenous, a lump sum tax is equivalent to an equiproportional tax on all commodities except leisure.

(d) If the ordinary (uncompensated) demand function for glue is perfectly inelastic, there is no excess burden associated with a tax on glue.

(e) If labor supply is endogenous, it is possible that a marginal tax rate of 100% for high income individuals is consistent with maximization of social welfare.

(f) A reduction in marginal tax rates would lead to a reduction in tax avoidance.

(g) The goals of promoting efficiency and equity are often in conflict.

(h) It is not possible for an increase in income tax rate to cause an increase in the number of hours a utility maximizing agent works.

(3) (a) Derive the slutsky equation for the labor supply function and precisely show that effect of wage taxes on labor supply is umbigious.

(b) How would you modify your slutsky equation if non-wage income is also subject to taxation. Compared to case (a) would there be more supply of working hours or less.

(4) Using the slutsky equation show the effect of taxes on current year’s consumption and hence savings.
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